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for the questions

1. (a) Fill in the blanks : 1x5=5

(i) records the quantity of

materials only. .

(i) is the main function of cost
- accounting.

(ii) Idle time arises only workers are
paid on
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(i) Fixed cost per unit ___ with 3. (a) The Eastern Company Ltd. furnishes
increase in output. ‘ the summary of Trading and Profit
& Loss A/c for the year ended
(v) In contract costing, most cof the 31st December, 2023 :
items of cost are ¢
Stock on Hand on 01.01.2023 :
() Choose the correct answer : 1x3=3 ' Raw Materials 25,000
(i) Rent of a factory building is a Wofk-m-mogress 8,220
variable cost / fixed cost / semi- Finished Goods . 17,300
variable cost. . Purchase of Raw Materials 21,900
. Sale of Finished Goods 72,310
(i) A high labour turnover increases / Direct Wages : 17,150
decreases the cost of production. ‘ Stock on 31.12.2023 :
:{zu) The basis of. apportionment for . . Raw Materials 26,250
canteen and staff welfare expenses Work-in-Progress ) 9,100
is floor area occupied / number of " Finished Goods 15,750
workers / wages. Non-productive Wages 830
v . Office and Administrative Expenses 3,160
2. Write short notes on (any four) : 4x4=16 Selling Expenses 4,210
(@) Role of a Cost Accountant Prepare a Cost Sheet showing the
(b) FIFO ' following and determine the profit or
loss as per Cost A/cs : 14
(c) Halsey Method (i) Cost of Materials Consumed
(d) Treatment of Packmg Expenses in (ij) Cost of Production
Costing (ifi) Cost of Goods Sold
(e) Joint and by products _ (iv) Profit for the year
(0 Integral System

\
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(4)

Or

(b) Discuss the nature of Cost Accounting
-and explain different cost concepts. «

: 7+7=14

4. (a) The particulars of X and Y materials are
given below :
Normal usage : 10 units per week each |
Minimum usage : 5 units per week each
Maximum usage : 15 units per week each
Reordering quantity :
X—60 units
~—  Y—100 units
~~ Reordering period :
X—3 to 5 weeks
Y—2 to 4 weeks

Calculate for each material :  3x4=12
(i) Reordering Level
(ii) Minimum Stock Level
(iii) Maximum Stock Level
(iv) Average Stock Level
or
(b) Distinguish between : ' 6+6=12
(i) Idle time and Overtime

(i) Remuneration and Incentives
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5. (a) A machine was purchased on January
2014 for ¥ 5 lakhs. The total cost of all
machinery inclusive of the new machine
was 75 lakhs. The following further
particulars are available :

Expected life of the machine—10 years

Scrap value at the end of 10 years—¥ 5,000

Repairs and maintenance for the machine
during the year—¥ 2,000

Expected number of working hours of the machine
per year—4000 hours

Insurance Premium Annually for all
machine—¥ 4,500

Electricity consumption for the machine per hour
@ 75 paise per unit for 25 units

Area occupied by the machine—100 sq. ft.
Area occupied by other machines—1500 sq. ft.
Rent per month of the department—¥ 800
Lighting charges—® 120 per month for 20 points
for the whole department out of which 3 points
are for the machine
Compute the Machine Hour Rate for the
machine on the basis of the data given
above. 16
or
(b) Define overhead. What do you mean
by under- and over-absorption of
overheads? State the causes of over-

and under-absorption of the factory
\ overheads. 4+6+6=16
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6. (@) A product is produced through two ' [ ASSAMESE VERSION ]
distinct processes : Process—I and
Process—II On - completing it is

_ 1. (@) IR @I 1x5=5
transferred to finished stock. From the
following  particulars durnig the ) _-a T AIRER AR Bt
month of December 20 14 prepare FE
Process A/c : *14
Process—I  Process—II (i) ____ TR I8 GIOIHE] A4 R |
Unit introduced 10000 9000 (iii) W“ b m ter = afem
i'Transfer to next process/ RN . ) ﬂqﬁ faa =
finished goods 9000 8250
Normal loss (on inputs) 10% 5% o (iv) oo ﬁﬁﬁ wiest w1eal oifS G g I
Realizable value of normal ] . !
loss (per unit) (in ?) 2 4
Cost incurred : ) ' - ' . ) fefefes  afk TS IR ke
Direct Material (in ?) 40,000 20,000 o SRR
Direct Labour (in ©) 20,000 10,050 :
Direct Expenses (in @) 12,000 — : (b) = Bewor f Sforea - 1x3=3

Production Overheads

() B IRAN T OIS ® R
(100% of direct labour)

M W/ e W ) -

Assume that there was no opening or FfReSTNe I/ |

closing ‘stock of Raw Materials and

Work-in-Progress. (i) 2RI Sy e S 3w 3/ Z¢
‘o,- I ‘

() What do you mean by Process Costing? (ii) IO S B T I A6 e
What are the features of process \ (=R e TS RR / R wWW /
costing? Distinguish between Process \ - TGRI <R |
costing and Job costing. 4+5+5=14
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12
2. oy G ot (R caean wif¥er) - 4x4=16 R TG 31.12.2023 SRS :
1 =1 e ' 26,250
(@) IB GIOTHH GO ’
o : ¢ fAffe A 9,100
(b) = (FIFO) ) of e s 15,750
€ =R S wreonfie R 830
IR T RS IW 3,160
- (d) e CIRR T I7TT RewRe T 4,210
(e) O = S Teorre o1 A=A , e FAPRR (TR @B W ARM (Cost
Sheet) s@® IN IX RTH PR Fe-
(N foem 3w - ' RIRFO (R FRRLT AT B 14
' _ () 10 AN IR IW
3. (@) B @R Pt TR 31 Rovw, 2023 (ii) =1 AR Teort T
oRey W8 Wl IR -Rey ue (i) 48 AT 9
S-S FR1eI ITe Wi 4w _ i) —
A TS 01.01.2023 TS : il
1 e ARG 25,000 (b) I8 IieFoes o7 Rew wwcamsa a1 we
s ARe R 8,220 . Rfew 3w yRems Recw =1 7+7=14
of ke 17,300 4. (@ XIF Y WA ReT oo f 209
4 AR T 21,900 \ AR AN : A A= 2AR¥BR 10 LR
of e 8 RP 72,310 \ TSR TN : AfS RS ARTBR 5 AT
" dherer o 17,150 Feds R : oA Aerze ARBR 15 LR
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¢ AfFa—I aferr—II

FORT oM (TG ToJe) 10% 5%
TORF RO AMNFS o0 A

=S 2BRG: (5re) 2 4
WI| RN : |
oors =1 7 (DFTS) 40,000 20,000
ooy = (5978) 20,000 10,050
orers W (B370) 12,000 -

Teorm Tk I (Sror® ¥ €9IS 100%)

ARRT WF AFRA TGS F6 AN TR
w{-fAffe TR TR @ 8 RS @
R AT . '

oR{T

() o I P T W2 dfFm I
RFEpz B 2 o IR o w1 IR
Ters 41 ~NLFPIR Sra 40 | 4+5+5=14

* % K

\

\

24P—1200/1314 4 SEM TDC COAC (CBCS) CC 403



